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QUESTION 1
End users report widespread issues accessing multiple network resources

What tool should the BIG IP Administrator use to view the status of all virtual servers and associated resources in one
place?

A. Pool statistics

B. Network Map

C. System performance
D. Virtual server statistics
Correct Answer: B

The network map shows a list Virtual, Pools and iRules with the status of each.

QUESTION 2

Which of the following statements about Web server offload is NOT true?

A. It performs rate shaping to reduce overflow.

B. It forces the client browser to use multiple connections streams.

C. It uses OneConnect to reduce multiple TCP connections.

D. It utilizes cached content to prevent unnecessary trips for the same content.
E. It uses specialized hardware for SSL offload.

Correct Answer: B

QUESTION 3

It is common for free storage space to exist somewhere in a business network that is not easy for storage administrators
to utilize. What solution can the ARX provide in this situation?

A. The ARX identifies the exact location of the free storage, which allows network administrators to target those
locations when provisioning additional storage.

B. The ARX extends the capacity of each server by 10-15, through intelligent file virtualization.
C. The ARX uses the extra storage for transaction logs and index files.

D. The ARX allows the customer to pool storage from anywhere within the enterprise and capacity balance the overflow
across devices.

Correct Answer: D
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QUESTION 4

Requests that do not meet the ASM security policies can:
A. Generate learning suggestions

B. Be blocked

C. All of the above

D. Be logged

Correct Answer: C

QUESTION 5

By default, BIG-IP ASM allows which of the following HTTP methods in a client request? (Choose three.)
A. PUT

B. GET

C. POST

D. HEAD

E. TRACE

Correct Answer: BCD
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